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Question: 86 

Refer to the exhibit.

A network engineer implemented this segment routing configuration.

Which statement about the output is true?
A . This range conflicts with the segment routing local block range.
B . The device must be reloaded for these ranges to be allocated and used.
C . The default segment routing global block range is being used on this device.
D . A nondefault segment routing global block range is being used on this device.

Answer: D

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/routers/asr920/configuration/guide/segment-routing/ segment-
routing-book/seg-routing-global-block.html

Question: 87

Which statement about enabling segment routing for IGPs is true?
A . Segment routing must first be enabled under then routing process and then globally
B . Segment routing must first be enabled globally and then under the routing process
C . Segment routing can be enabled only under the routing process
D . Segment routing can be enabled only globally



Answer: B

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/seg_routing/configuration/xe-16-6/segrt-xe16-6-
book/sr-ospfv2-node-sid.html

Question: 88

Which two conditions must be met before separate ISPs can provide interdomain multicast routing? (Choose two.)
A . Each ISP must configure MSDP to connect its individual multicast administrative domain to the domains at other
ISPs.
B . Each ISP must dedicate a single router to handle multicast traffic between providers.
C . Each ISP must replace its RP assignment with a global R
E . Each ISP must configure its network to use PIM-D
G . Each ISP must support intradomain multicast routing.

Answer: AE

Question: 89

Refer to the exhibit.

Which LSA type is indicated by this router output?
A . type 3 LSA
B . type 4 LSA
C . type 1 LSA
D . type 2 LSA

Answer: C

Question: 90

Refer to the exhibit.



XR1 and XR2 are sending the prefix 10.11.11.0/24 to XR3. A configured policy on

XR1 is incorrectly prepending AS path 11 11 12 12 onto this prefix. A network operator wants to add a policy onto
XR3 that will not allow the falsely prepending prefix from being installed.

Which policy configuration applied to the XR3 neighbor configuration for XR1 can accomplish this requirement
without impact to other or future received routes?

A)

B)

C)



D)

A . Option A
B . Option B
C . Option C
D . Option D

Answer: D

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/routers/crs/software/crs_r4-1/routing/command/
reference/b_routing_cr41crs/b_routing_cr41crs_chapter_01000.html#wp3850885229

Question: 91

Refer to the exhibit.



A network operator is working to filter routes from being advertised that are covered under an aggregate
announcement. The receiving router of the aggregate announcement block is still getting some of the more specific
routes plus the aggregate.

Which configuration change ensures that only the aggregate is announced now and in the future if other networks are
to be added?
A . Configure the summary-only keyword on the aggregate command
B . Set each specific route in the AGGRO policy to drop instead of suppress-route
C . Filter the routes on the receiving router
D . Set each specific route in the AGGRO policy to remove instead of suppress-route

Answer: A

Question: 92

Refer to the exhibit.



After troubleshooting an OSPF adjacency issue, routers 1, 2, and 3 have formed OSPF neighbor relationships.

Which statement about the configuration is true?
A . Router 2 receives a Type 5 LSAs from router 1 for its connected subnets
B . Router 2 uses router 3 as the next hop for 192.168.0.0/24
C . Router 2 uses router 1 as the next hop for 192.168.0.0/24
D . Router 2 receives a Type 7 LSAs from router 3 for its connected subnets

Answer: A

Question: 93

Refer to the exhibit.

Router 1 is connected to router 2 on interface TenGigE0/1.

Which interface provides the alternate path to 172.16.200.9/32 when the link between router 1 and router 2 goes
down?
A . TenGigE0/1 interface provides the alternate path
B . A backup path must be statically installed
C . TenGigE0/2 interface provides the alternate path



D . A primary path must be manually installed

Answer: C

Question: 94

Refer to the exhibit.

Which effect of this configuration is true?
A . It sets the keepalive timer to 30 seconds and the hold timer to 240 seconds.
B . It sets the keepalive timer to 30 milliseconds and the hold timer to 240 milliseconds
C . It sets the hold timer to 30 milliseconds and the keepalive timer to 240 milliseconds
D . It sets the hold timer to 30 seconds and the keepalive timer to 240 seconds

Answer: A

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/iproute_bgp/command/irg-cr-book/bgp
s1.html#wp1552800140

Question: 95

What can be used to determine a path from the head-end to a tail-end router when implementing SR-TE with a head-
end, with little information on the network topology?
A . traffic controller
B . path computation engine
C . tail-end router
D . SNMP server

Answer: B
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